
 

 

 

Fax Option Type M28 (D3E7) 
Fax Connection Unit Type M28 (D3E7) 

Handset Type C5502 (D645) 
 
 
 

PARTS CATALOG 

 
This catalog gives the numbers and names of parts on this machine. 

 
 

 

1 Fax Option Type M28 ･････ 3P

2 Fax Option ･････ 5P

3 Parts Index ･････ 7P

 
 
 
 
 
 
 
 
 
 

 
November 14, 2016 V1.00 



 

3 

 

1. Fax Option Type M28 
 



 

4 

Index

No.
Part No. Description

Q’ty Per
Assembly

Index

No.
Part No. Description

Q’ty Per
Assembly

1 B1345050 SPEAKER:B134 1 101 03603006N SCREW - M3X6

2 D2395885 INSULATING SHEET:FCU3.8E 1 102 04523008N TAPPING SCREW - M3X8

3 D6195275 HARNESS:SPEAKER:CONNECTING 1 103 16072251 FERRITE CORE:K3 NF-75(N)BK0

4 D3E25202 PCB:FCU:SERVICE PARTS:ASS'Y(NA) 1

D3E25204 PCB:FCU:SERVICE PARTS:ASS'Y(EU/AA/CHN/KOR) 1

D3E25206 PCB:FCU:SERVICE PARTS:ASS'Y(TWN) 1

1.  Fax Option Type M28

 

 



 

5 

1 2

101

102

105

103

104

3

 

2. Fax Option 
 



 

6 

Index

No.
Part No. Description

Q’ty Per
Assembly

Index

No.
Part No. Description

Q’ty Per
Assembly

1 D3E75000 SD-CARD:FAX CONNECTION:ASS'Y 1 101 03530080N SCREW:M3X8

2 D1275821 BRACKET:HAND SET 1 102 03530140N SCREW:M3X14

3 D7395005 HAND SET:ASS'Y(NA) 1 103 03603006N SCREW - M3X6

104 03603008N SCREW:M3X8

105 04503016N TAPPING SCREW:3X16

2. Fax Option

 



 

 

 

 

 

 

 

 

 

 

 

 

 

Parts Index 

 



 

7 

3. Parts Index

Part No. Description Part No. Description

03530080N SCREW:M3X8 5 - 101

03530140N SCREW:M3X14 5 - 102

03603006N SCREW - M3X6 3 - 101

03603006N SCREW - M3X6 5 - 103

03603008N SCREW:M3X8 5 - 104

04503016N TAPPING SCREW:3X16 5 - 105

04523008N TAPPING SCREW - M3X8 3 - 102

16072251 FERRITE CORE:K3 NF-75(N)BK0 3 - 103

B1345050 SPEAKER:B134 3 - 1

D1275821 BRACKET:HAND SET 5 - 2

D2395885 INSULATING SHEET:FCU3.8E 3 - 2

D3E25202 PCB:FCU:SERVICE PARTS:ASS'Y(NA) 3 - 4

D3E25204 PCB:FCU:SERVICE PARTS:ASS'Y(EU/AA/CHN/KOR) 3 - 4

D3E25206 PCB:FCU:SERVICE PARTS:ASS'Y(TWN) 3 - 4

D3E75000 SD-CARD:FAX CONNECTION:ASS'Y 5 - 1

D6195275 HARNESS:SPEAKER:CONNECTING 3 - 3

D7395005 HAND SET:ASS'Y(NA) 5 - 3

Page and

Index No.

Page and

Index No.

 


